NỘI DUNG ÔN TẬP TOÁN 8
Câu 1 Giải các phương trình sau: 
a) x – 2 = 0	
b) x + 10 = 0
c) 5x – 10 = 0
d) 4x + 12 = 0
e) 2x – 2 = 0
Câu 2 Giải các phương trình sau: 
a) (x – 1)(x + 2) = 0   
b) (x – 10)(x + 3) = 0   
c) (x - 3)(x + 12) = 0   
d) (x +4)(2x + 2) = 0   
e) (5x – 10)(x + 5) = 0   
Câu 3 Giải các phương trình sau: 
a) x + 12= 2x + 4  
b) x + 2= 4x - 4  
c) x - 3= -2x + 4  
d) x +(-2) = 4x -1  
e) 5x -3= 4x + 4     
Câu 4 Giải các phương trình sau: 
a) (x + 2)(x - 2) = x2 + 4x 
b) (x - 2)(2x - 2) = x2 - x 
c) (x + 1)(x + 2) = x2 + x 
d) [bookmark: _GoBack](x + 3)(x - 2) = x2 + 6x 

